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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

T AR qMC2eATEe S xxxanﬂWWW@Tﬁﬂl
IO TN x x x x FAAF2 |

(1) B
(2) @l
(3) g
(4) oM

Rw& WS RAMED TOR xxxx B REFR AMKITI K3 RTE RA 72l
RWET ROEWV xxxx ERGD |

(1) XeP®RT
(2) @RUC
(3) cEwCCT
(4) YT
Options :

21280727993. 1
21280727994. 2
21280727995. 3

21280727996. 4

Question Number : 75 Question Id : 2128077000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




1 A 02T ST x x x x A TRt oAl IR BRI 4

Wxxxxﬁﬁ@ﬂﬂﬂﬂﬂ@l
(1) e &l

(2) Coreat

(3) WedqEE

(4) e

Rw® WaTs RAMED TOMR xxxx B REFR ANKTI R XTE RA 72l
WA xxxx Refdw kX ¥ T |
(1) IFR'T TR

(2) TR

(3) ©3% TRk
(4) BH TR
Options:

21280727997. 1
21280727998. 2
21280727999. 3
21280728000. 4

Question Number : 76 Question Id : 2128077001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




1 A 02T ST x x x x A TRt oAl IR BRI 4

SIS DI Ol #IRT x x x x FAFGRe T e |
(1) CIRLAAI

() A

(3) Ol

(4)  CRA

Rw® WaTs RAMED TOMR xxxx B REFR ANKTI R XTE RA 72l
WReI et BT OF xxxx OfTZaw OfewEa |

(1) RO%FT
(2) ofoEme
(3) waeme
(4)  RRIMT
Options:

21280728001. 1
21280728002. 2
21280728003. 3
21280728004. 4

Question Number : 77 Question Id : 2128077002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




?Wﬂ%ﬁﬂ@ﬁﬁmﬁ@ﬁﬁTxxxxﬁi@?ﬂﬁﬂﬁﬁﬂmﬂﬁmﬂ@ﬁiﬂgl

T x x x X(PW® (@1
(1) 28l

(2) fomi

(3) Ol

(4)  COAIA

Rw® WaTs RAMED TOMR xxxx B REFR ANKTI R XTE RA 72l
afEe) xxxx XO© HTRTE |

(1) 74T3
(2) ©ofts
(3) Nery

(4) wenfts
Options:

21280728005. 1
21280728006. 2
21280728007. 3
21280728008. 4

Question Number : 78 Question Id : 2128077003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




1 A 02T ST x x x x A TRt oAl IR BRI 4

X X X X7 4 |
(1) B bRM
(2) O bR
(3) MW AFM
(4) 312 AeHAI

Rw® WaTs RAMED TOMR xxxx B REFR ANKTI R XTE RA 72l
xxxx ' I |

(1) X Xewf

(2) »3 R

(3) OMF FIeH
(4) FEF WHIT
Options:

212807280009. 1
21280728010. 2
21280728011. 3
21280728012. 4

Question Number : 79 Question Id : 2128077004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




T AR AT Mk x x x A FeFwT ZioifbeT J41 BRI 102 %
SR B3l S0 WA 58 TG W.H.O. A x x x x o 231 (773 |

(1) AR oW

(2)  LRA-(oRI T

(3) 3R 57 oL

(4) Wz T O

Rw® WaTs RAMED TOMR xxxx B REFR ANKTI R XTE RA 72l
TADOfIMf XAf S0 @M 98 ENEE W.H.0. T xxxx Tf AKC EMK I

(1) RAC Tl kWE

(2) WHT-XUVTE RWF

(3) REW4EIM XA kRO

(4) RA-ROM BFF RIF

Options:

21280728013. 1

21280728014. 2

21280728015. 3

21280728016. 4

Question Number : 80 Question Id : 2128077005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




1 A 02T ST x x x x A TRt oAl IR BRI 4

el x x x x A |
1 o

2 &

()

(4) oA

Rw® WaTs RAMED TOMR xxxx B REFR ANKTI R XTE RA 72l
TATH xxxx BIFe |

1 &
2 o
(3) Ok
(4) ®Ofm
Options:

21280728017. 1
21280728018. 2
21280728019. 3
21280728020. 4

Question Number : 81 Question Id : 2128077006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




‘CNe TP 23T IR W T2 4 |

(1) W2 AP
(2) 3w

(3) (eTg ST &l
(4)  gfEr e

‘B0 ARB AR RAOIM RCTF RA %I I
(1) W% TI3 I

(2) B SMOWI

(3) @°m WX AFHE Il

(4) wrfee 33|

Options:

21280728021. 1

21280728022. 2

21280728023. 3

21280728024. 4

Question Number : 82 Question Id : 2128077007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




NI 2T 2131 JICRHN AT 1T 4 |
(1) Pl

(2) AT &Il

(3) wgFwedl

(4) FgF=Al

‘"M K3 A% RAOIN RETF RA #I2 |
(1) R3T SOWI

(2) RO AFFRF I

(3) BT EX¥E I

(4) 3T EFI

Options:
21280728025. 1
21280728026. 2
21280728027. 3

21280728028. 4

Question Number : 83 Question Id : 2128077008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




‘& P T IR AT 102 <4 |
(1) &< (P odl Fl

(2) & FEF40

(3) IR 39Tl

(4) A AT ST &6F

YT BT ARE RAON RETE RNA R |
(1) AT ’TRNTT BHET ||

(2) WA RAT EHTE ||

(3) RART KEMECHF I

(4) IWT REBH XwT AT I

Options:

21280728029. 1
21280728030. 2
21280728031. 3

21280728032. 4

Question Number : 84 Question Id : 2128077009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




TN WA FRP 2231 12O ST Tt 02 24 |
(1) o LeiEar

(2) TP Tt

(3) Ol Caii3sA]

(4)  T2I3I CFTETAITA

‘70% RIS BE AKT RAOIN TTT BTF RA R#3E|
(1) RAEC TOARE

(2) TmoOW Twmlrs

(3) WC KBl

(4) TOARS ETFRDIN I

Options:

21280728033. 1
21280728034. 2
21280728035. 3

21280728036. 4

Question Number : 85 Question Id : 2128077010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




BTN ATCAIRIP 2121 TR @at Comal 9102 27 |
(1) TR pwee

(2) 2813 A3 e BIA

(3)  ICHI ITe *MT_T

(4) AL TeTFAT

‘FRWT RAFMS AKT RAON TTT BT RA R
(1) T%he XFXTF |

(2) CTmA% 3537 kST BRF I

(3) WY TOm OF

(4) wnwT efmmi

Options :

21280728037. 1

21280728038. 2

21280728039. 3

21280728040. 4

Question Number : 86 Question Id : 2128077011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




=gl eI SRR ol ear toer 10T 2 |

(1) W Bet

(2) DL AT

(3) Sred Sl

(4)  CEICUI e ]

‘@M XFUB AR RAOIMN TTT IBTF RA %I |
(1) mwET XfO3

(2) efxfm mer3

(3) TAFS TOIR

(4) WERT TB

Options:

21280728041. 1
21280728042. 2
21280728043. 3

21280728044. 4

Question Number : 87 Question Id : 2128077012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




(A) G320 Gl

(B) &3 (AT
(C) CFReTHIT]]
(D) CFCAICew
(E) St

(A)  ABATY STTF

(B) TmMf MoTHS

(C) PUxUer

(D) Wadx

(E) Wwf&

Choose the correct answer from the options given below:

(1) S & 132RFee Saal e Al (2T (TG THIFET] CFLAICSH] |
(2) ©I32RFO TR AT M A (AR (TR (TG THIPT |
(3) TSN (AW 122 Sl AT (TS (W (IS |
(4)  CICAICEH CFIGTHIRFET el (W1 T &132RFee Sl |
Choose the correct answer from the options given below:

(1) K& AFATY FTCF UM MTHF EURTIT BHads |
(2) ARATH KTTB RfF TN MCCHS Hatdn EURTIT I
(3) UM MoTHS ARATY SCTF K7 BORTIT Baoda I
(4) wdin PIRTST CNf MoTHE kiR ARATY FCTE |

Options :

21280728045. 1
21280728046. 2
21280728047.3

21280728048. 4

Question Number : 88 Question Id : 2128077013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

(A) el

(B) CORITHA

(€) Coifeget

(D) oMW

(E) S fo=at

(A) TC

(B) %5 nm°

(C) oefmsw

(D) mWEaHS

() wfsE wfes

Choose the correct answer from the options given below:
(1) oM I o1 CORT T Colfedof TeT |

(2)  COIeISt N fo==T CORT A ToTM W T |

(3) SIS Fow{l oo el GOl CORT AT |

(4) e AT fo7-t FoAMW (ORI TITH COIeqST |

Choose the correct answer from the options given below:
wwEmnt RISE RT3 38 3n° ¥Wefosys oo |
Wefmsy RIRE ¥Ees 33 3n° kyEasf v |
RINE RfEs Ryasst CC Welmss w8 5w
UC RIRE RNfEs ryraat ¥E R wefmss |

(1)
(2)
(3)
(4)

Options:

21280728049. 1
21280728050. 2
21280728051. 3
21280728052. 4




Question Number : 89 Question Id : 2128077014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
(A) STl

(B) TSl

(C) bl

(D) (Ciewl

(E)  4CeTEwai

(A) TAI-ewReOfmmf

(B) AT
(C) ¥fezms
(D) WA

(E) wrSwEICS

Choose the correct answer from the options given below:

(1) ST eaN BIRer CRTaicenT ZoRAT LI ZHR |

(2) DI SreT-eTH e ZoRA (PTHICeHT YT |

(3)  (RCHICEW! ZIRAT SIZE-oTaw 1230 D@t YT SRl |

(4) YAV ST ST (PCAICEHT oAl |
Choose the correct answer from the options given below:

(1) TAI-SREOITN RITTTR BRdm AT RRSHRITE I
(2) XfETWR TAI-SREOMMN AT BRdR RFSHESCS |
(3) Wz AMKT TAI-SREOIIMS RICTTY RRSHRITS I
(4) wARHERIC TAI-SREOMmMS XICTIY Hatdn AN4T I

Options:



21280728053. 1
21280728054. 2
21280728055. 3

21280728056. 4

Question Number : 90 Question Id : 2128077015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




(A) oK
(B) I 2
() WATS
(D)  f-eTE

() AN

(A)  FRO-FRTO

(B) THE ARBOf

(C) RIS T

(D) g-ter

(E)  Tmfwmrysmf

Choose the correct answer from the options given below:

(1) AT ZRT ZR- g2 T SO TG TALFEA |

(2) -+l B2 A ZRRT A A0S AL |

(3) -2 AT LI BT TS OAN A S |

(4)  TALRSRN A ACS A ZI2- T2 AN A |

Choose the correct answer from the options given below:

(1) THE ARBOf FRO-KCD S-CCT KT TR TRFRIyme |
(2) T-UEC FRO-KTO THS ARFOf kd TR TNfRIme |
(3) FHRD-RTD T-UCT THB ARFOf TRIRTRM KT T3
(4) TRIwIrRm ke T4 S-CCC KRO-KTD THE ARFOF |

Options :

21280728057. 1
21280728058. 2
21280728059. 3
21280728060. 4

Question Number : 91 Question Id : 2128077016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
(A) @R 3l

(B) ewl BT

() [

(D) (S

(E) TR

(A) Sxeasl xererf
(B) wmsT A%ICS

() wm@sf
(D) e
() cmrxnfef

Choose the correct answer from the options given below:

(1) w3l 2R TR 3@ ¢3te o iR |

(2) CCo PR AR Qe wk IR EEa[ 3 |

(3) ANRER 3R CAte I AFRI Deqd=t 2= |

(4) SRR SEIE VeI TR CIACS P AR |
Choose the correct answer from the options given below:
(1) »xsT AKBCf aneasl Hareel ky sl amywfef
(2) e @3f eUwful Rw3T AKSTl ereasl Haref |l
(3) aneasf RerTel k) W3l aUrwftf "H3T ARICL
(4) Sxeesf FePTrf wHst AKBCL Rk @3f amwfef i
Options :
21280728061. 1
21280728062. 2
21280728063. 3

21280728064. 4



Question Number : 92 Question Id : 2128077017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
(A) @b, %03, e,

(B) w3

(C)  BISTA COMAl

(D) IR G

(E) ¥ iemar

(A) TX, TH, I,

(B) MERTR

() Xowo ¥=%3

(D) AT RE3F

(E) % @mmamf

Choose the correct answer from the options given below:

(1) TR a5, 913, £S5, MHPE T2 SN BRI (O |

(2) &b, i, 5, TR G BILTH (I 5 oA w13 |

(3) BT oMt &F, Wi, 5, F0F TICAT % FloreAma s |

(4) 2R AT I, O3, 8, BRI COMAL & PlAATR A3 |
Choose the correct answer from the options given below:

(1) % @mmEnf TX, TS, 7f, OTRTH RAMT RE3 ROIR°T 73
(2) TX, TK, T, RAT REF ROFD ¥H3 K BOWEN OTRTS |
(3) Rmm ¥Hs UK, T, Wi, kAT RS % BIOWEN OTRTS |
(4) RAMT RFF TX, TE, Af, ROFT ¥73 K BTN OTRTS |

Options :



21280728065. 1
21280728066. 2
21280728067. 3

21280728068. 4

Question Number : 93 Question Id : 2128077018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A)  EEH R

(

(B) (S

(C) gwiF plewd
(D)  C20 ST AR
(E) BRI

(A) = ORET M3
(B) EXW

(€) #farwf Rozmf

(D) 7°TT TROD RKT

(E) X3

Choose the correct answer from the options given below

(1)  SWifE SIwaNC2al STye JISIGRT Frauies A |

(2)  BI¥I TS WG AR BIHACZAT S i |

(3) W@ ARISMIEE BIeAACRe S IRABRI TS |

(4)  Bmife DIEAAIGET AR S ST TS |

Choose the correct answer from the options given below:

(1) AfArEf XA A°CC TROD W4T X3 E4R° ROWAT IS |
(2) X¥ E4° aURAT W AfaTEd XIAM 7°CC TROD RAT
(3) =ArWeT M3 AfATES XOFM A°TT TROD 4T X3 EXIC|
(4) AfArEf ROFN RORLT ME A°TT TROD ST XE EXT|

Options:

21280728069. 1
21280728070. 2
21280728071. 3

21280728072. 4

Question Number : 94 Question Id : 2128077019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List | with List Il
Choose the correct answer from the options given below:

List | List
(A)  COIRMTER G () el &p, gy
B e () &, . il ol
€) & (R A () &, FEAZT
(o) feem ety fedq (V) S1qT Taed g

List| List

(A)  THe3F ROC () me. UX. CemmRe
B) R Onf ()  TF I 3w 53t
) Tn IAEYE Awm & () . BafnTRAT ofns
(D) 3fmaE TRA KTK3 (V) TOUIF RiTENE

(1) (A1), (B1H1m), (C-(), (DM
(2) (A1), (811, (C)-0v), (DM
(3)  (AN-{in), (B)1), (CH1), (DH1V)
(4) (A1), (B0, (C1-(1v), (D)-{1)

Options:

21280728073. 1

21280728074. 2

21280728075. 3

21280728076. 4

Question Number : 95 Question Id : 2128077020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List | with List Il

Choose the correct answer from the options given below:

List List I
() oI () 4eE 3o
B) @FF () YRS PR
(€) ORI eI i () ST T
(0) elieT vwam & (V) I A
List List I
(A) Y @8l () 3mek SRmo
() 423 () ERRETMF R¥3 Of0A
€ wes s iy () ER0OT OREFTE:
(0) R TKREONE T (V) TTRRFSF 0af3fere

(1) (A1), (811, (CIHm), (D)
() (AH1V), (BIH1), (C-(), (D)
(3)  (AN{1), (B}In), (C-{1), (DI1V)
() (AHIV), (BIH1), (C-(n), (D}1n

Options:

21280728077.1

21280728078. 2

21280728079. 3

21280728080. 4

Question Number : 96 Question Id : 2128077021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List | with List Il

List| List I
(A) SFRRA o GRTI ()t GZI SAHIeA
B) e TCAR Gk
(€)  WRIE S @t () G4 ez

4367

Y ik R - O >

(V) Preswem e

List |

List Il

(A TERZM EfTE 4T (T3

(B) fzw KaH

(€ TABPY TROD THA)

(D) WEW4EIM XAf kRO TRAS THEO

() % T°K0F K3XWB

() & 3f. KT8 Of

() & WFRE ofns

(V) ofemerss of¥ste opk copef

Choose the correct answer from the options given below:

(1) (A1), (BI1), (C)-0v), (D1
(2) (A1), (BI1), (CH1), (DHIV)
(3)  (A-{1), (BI1V), (CHin), (D}
(4) (A1), (B}10), (CHI), (DHIV)

Options:

21280728081. 1

21280728082. 2

21280728083. 3

21280728084. 4




Question Number : 97 Question Id : 2128077022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List | with List Il

List| List I
(A) ST () e
(B) 6N ORI () SR
€ RF[ (1) Te Pl
D) 4R (V) el 3

List | List I
(A BOX IO () BETEEFC UM
(B) TAF RT3 () BETES Kf
) wwes () TXD EC3
D) w433 (V) REfRR 3%

Choose the correct answer from the options given below:
(1) (A, (B){1), (C1-(1v), (D)
(2 (A1), (BJ-{tn), (C)-1v), (D1
(3 (A-(), (B)-{1n), (CHIV), (DH1)
(4) (A1), (B)-(n), (CH1), (D)1
Options:
21280728085. 1
21280728086. 2
21280728087. 3
21280728088. 4



Question Number : 98 Question Id : 2128077023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List | with List Il
List| List I
(A) TR A () oo
(B) (A ¥ () e
©) e T () 37 ey
o) FAH (V) I
List| List
(A 2xaf oers () omTAeEt
(B) ¥ ETE () omwef ot
(C) é’mﬁmm (1) omf waIefmmf
(0) 20x3 (V) RO

Choose the correct answer from the options given below:
(1) (A1), (8)-{v), (C1-(1), (D)1
) (A1), (8)-{1), (C)-1v), (D)1
(3) (A1), (B)-{1V), (CH{1), (D)-{i1)
() (AN, (B)1), (C-(1v), (D)
Options:
21280728089. 1
21280728090. 2
21280728091. 3

21280728092. 4



Question Number : 99 Question Id : 2128077024 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List | with List Il

List| List I
(A) el ol () 29 (vdie
(B) eI 9eTEeI (1) (oI G
() G (i) e
(0] (ARG (V)

List| List I

(A 3fEd O3

() TADMXET

(B) TAD TIATI () &3 Res
€ TS () o
(D) W% TTE (V) ©Ees

Choose the correct answer from the options given below:
(1) (A1), (8)-{v), (C1-h, (DH1)
(2 (A1), (8)-{1), (C)-(v), (D)1
(3) (A1), (8)-{1), (CH1), (DM1v)
() (A-), (B{1), (C1-(1v), (D)
Options :
21280728093. 1
21280728094. 2
21280728095. 3

21280728096. 4



Question Number : 100 Question Id : 2128077025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List | with List Il
List| List
(A CETARE () AR
(B) YA A () 3
€ TG (1) 516 (3
(0) 2l Il (GG
List| List I
(A & ofm (] TOR3
(B) Ma*I MM () & DT
) 7R AFRTW () RS TTM
(D) ANT FERmM V) o omo

Choose the correct answer from the options given below:
(1) (AM), (B)-{n), (CHIV), (DH1)
(2 (A1), (B)-(1n), (CH-n), (DH)
(3) (A1), (B)-(n), (CHI), (D)1
(@) (A1), (B)1), (C-(1), (D)1
Options:
21280728097. 1
21280728098. 2
21280728099. 3



21280728100. 4



